REVIEW: Number Sense Practice Exercises

Finding the LCD
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Adding/Subtracting Fractions
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Multiplying/Dividing Fractions
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Finding the LCD: 1a. 12 b. 10 c. 72; 5a. 6 b. 15
Adding/Subtracting Fractions: 6a.  b.  c. 
7. a.  h b.  h c.  h
Multiplying/Dividing Fractions: 1a.  b.  c.  d.  
2.a.  b.  c.  d.     3.a.  b.  c.  d.    
4.a.  b.   c.   d.    5.  filled with green lollipops
6. 4 people






Answers
Adding Integers: 9.a. 7 b. −6. c. −1 d. −2
10. 5 oC 11. $39
Subtracting Integers: 8.a. −1 b. −3 c. −10
d. −2 10. −19 oC 11. −7 oC (it drops 7 degrees because of the wind chill).
Multiplying/Dividing Integers: 4.a. 0
b. –7 c. −4 d. 7   5. −48 b. 0 c. 18
Order of Operations: 3a. 9 b. 77 c. 20 d. 6
4.a. −4 b. 2 c. 16 d. −8 5.a. 1 b. −2 c. −3 
d. 36  8 a. (16 ÷ 4 – 5) × 22 = −4
b. 16 ÷ 4 – 5 × 22  = −16 (no brackets needed)  
9.a. 4 ÷ (2 – 3 ) = −2
b. 20 ÷ (5 – 9) = −5
c. −12 ÷ 3 − −6 = 2
d. (10 – 3) × −2 = −14
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Multiplying/Dividing Integers
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8. Evaluate.
a) 16-12-5
b) 5-12-(4)
¢c) 4—-(-2)-8
d) -18—(-3)—(-13)
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10.

11.

The average low temperature in
Tobermorey in October is 5°C. In
February it is 23°C lower. What is the
average low temperature in Tobermorey
in February?

The air temperature is —8°C. With the
wind blowing at a speed of 18 km/h, this
temperature feels like —15°C. How many
degrees does the temperature change
because of the wind chill?
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4. Find each quotient.

0
a —_
) —4
35
b) ——
) -7
-24
c —_—
) 6
—-28
) =2
) -4
5. Multiply.
a) (—8)x3x2
b) 5x(=2)x0

¢) 6x(-1)x(-3)
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8. Insert brackets to make each equation
true.

3. Evaluate.
. 93

a) (15+3)-(120 2%) a) 16+4-5x27 =—4

b) 4x3(24+27)+5 b) 16+4-5x2>=-16

¢) (3*-3)+4+8x2 ¢) 16+4-5%x2%*=—64

d) 6[4°+(3+1)*-3]
9. Copy each equation and use the symbols

4. Evaluate. +, —, x, +, and () to make it true.
a) 5(—4)+(—4)> a) 4] _J2[ ]3=-2
b) —20+(-4)-3 b) 20[ 5[ ]9=-5
©) (3)(-4+(1-3)’ o —12[ |3[ ]-6=2
d) (1-5)>+(1-3) d) 10 ]3] ]2=-14

5. Evaluate.
a) (-1)' —8+(—4)
b) (3-5)’ +(6-38)°
©) (2°=3%) = (=16)+(-8)
d) [(-5)"=(-7)"1x3+(-2)
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1. Use multiples to find the LCD for each
pair of fractions.

1 1

a) —, —
) 3 4
11

b) —, =
) 2°5
11

) —, —
) 8 9
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5. Find the LCD for each set of fractions.
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6. Find each difference.

a) 42_2%
5 3

b) 51—3l
4 6
) 2%—1ﬁ
7 5
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7. During one week, Diwani studied for

3% h on Monday, 2% h on Tuesday,

and 2% h on Wednesday.

a) Find the total number of hours that
Diwani studied for this week.

b) For how much longer did she study
on Monday than on Wednesday?

¢) For how much longer did she study
on Wednesday than on Tuesday?
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Practise

Express your answers in lowest terms.

1. Multiply. 4. Divide.
2 3 2 3
Sz a) l—+—
) 7X5 ) 3 4
4 7 5 .1
—X— b) —+2—
b 7X9 ) 8 2
2
) 3><i c) 1§+4—
& 5 9 3
2 7 2 1
d) —x— d) 3—+4-
) 3 10 7 3

2. Multiply. 5. A bowl filled with lollipops is % full.

3 .2
a) —xl— o)
4 3 3 of these lollipops are green. What
1
b) 2E X — fraction of the full bowl are the green
5 6 lollipops?
) 51><2l
7 6 )
4 1 6. A box of blueberries is — full. Janet and
d) 3 i 45 S
her friends had each eaten % of a box
3. Divide. of blueberries. How many people ate
blueberries?
55
a) —+—
8 6
7 5
14 10
d) E - i
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9. Find each sum.

10.

11.

a) 9
b) 2

F(5)+ (1) +4
+6+ (-3)+ (-7)

c) 6
d -2

The te
-5°C,

F(-8) +4+(-3)
+1+(9)+38

mperature in Stratford starts at
rises 18°C, and then falls 8°C.

What is the final temperature?

On Monday the price of a company’s
stock is $35 per share. On Tuesday the
price drops $4, on Wednesday it rises

$7, on

Thursday it drops $6, and on

Friday it rises $7. What was the price of
the stock per share at the end of the

week?




